Further Solutions of a Yang-Baxter-like Matrix Equation

Jiu Ding¹, Chenhua Zhang^{1,*} and Noah H. Rhee²

 ¹ Department of Mathematics, The University of Southern Mississippi, Hattiesburg, MS 39406-5045, USA.
² Department of Mathematics and Statistics, University of Missouri - Kansas City, Kansas City, MO 64110-2499, USA.

Received 13 July 2013; Accepted (in revised version) 22 November 2013

Available online 28 November 2013

Abstract. The Yang-Baxter-like matrix equation AXA = XAX is reconsidered, and an infinite number of solutions that commute with any given complex square matrix *A* are found. Our results here are based on the fact that the matrix *A* can be replaced with its Jordan canonical form. We also discuss the explicit structure of the solutions obtained.

AMS subject classifications: 15A18 Key words: Matrix equation, Jordan canonical form, projector.

1. Introduction

Let *A* be a complex $n \times n$ matrix in the quadratic matrix equation

$$AXA = XAX \tag{1.1}$$

for the unknown matrix $X \in \mathbb{C}^{n \times n}$, which we refer to as a *Yang-Baxter-like matrix equation* since its form is similar to the classic parameter-free Yang-Baxter equation originally introduced by Yang in 1967 [9] and then independently by Baxter five years later [2] in the field of statistical mechanics. The Yang-Baxter equation is also closely related to several mathematical areas such as braid groups and knot theory (e.g. see Refs. [8, 10] for more details and related topics), and some other applications have already appeared — e.g. see Refs. [1,7].

Obviously, Eq. (1.1) has the two trivial solutions X = 0 and X = A, but its nonlinearity makes it difficult to find solutions in general. Recently, several classes of solutions of Eq. (1.1) have been obtained for some special cases of the given matrix A. When A is a nonsingular quasi-stochastic matrix such that A^{-1} is a stochastic matrix, the Brouwer fixed

^{*}Corresponding author. *Email addresses:* Jiu.Ding@usm.edu (Jiu Ding), Chenhua.Zhang@usm.edu (Chenhua Zhang), RheeN@umkc.edu (Noah H. Rhee)

point theorem was used to prove that a solution exists and some numerical solutions were obtained via direct iteration [5]. When *A* is a projector or idempotent matrix (i.e. such that $A^2 = A$), all of the solutions of Eq. (1.1) have been found [3]. With the help of the spectral projection theorem in the analytic theory of matrices, a general spectral solution result of Eq. (1.1) was obtained, without any hypothesis about the given matrix *A* [6]. In particular, generalised eigenspaces and the concept of the index of an eigenvalue were used to explore the analytic properties of the given matrix *A*.

In this article, we continue our investigation of Eq. (1.1) to find further nontrivial solutions for a given matrix A. Until now, only finitely many solutions have been obtained, except when A is a projector. We recall that the centraliser of A, consisting of all of the solutions of the linear matrix equation AX = XA, is an n-dimensional subspace of $C^{n \times n}$ — cf. Theorem 5.16 of Ref. [4]. Similarly, except for the trivial case of n = 1 the general Yang-Baxter-like matrix equation has infinitely many solutions represented by a system of n^2 quadratic equations with n^2 unknowns, which constitute a sub-manifold of $\mathbf{C}^{n \times n}$. For instance, directly solving the 2 × 2 form of Eq. (1.1) with a simple Jordan block

$$A = \left[\begin{array}{rrr} 1 & 1 \\ 0 & 1 \end{array} \right]$$

gives the nontrivial solutions

$$B = \left[\begin{array}{cc} b & (b-1)^2 \\ -1 & 2-b \end{array} \right],$$

where *b* is any complex number. Unlike in Ref. [6], where only a finite collection of solutions were found, we explore the solution set structure for some cases by finding an expression for infinitely many solutions. Our approach is based on several simple results and a format reduction where A in Eq. (1.1) is replaced by its Jordan canonical form, which simplifies the computation.

In Section 2, we present simple sufficient conditions under which a square matrix B is a solution to Eq. (1.1). In Section 3, we give the explicit expression of the solutions to Eq. (1.1) for several types of Jordan canonical form for A. A numerical example that contrasts our results here with those of Ref. [6] is discussed in Section 4, and our conclusions are in Section 5.

2. Sufficient Conditions for a Solution

Throughout this article, we assume that *A* is a fixed square $n \times n$ matrix. The set $\sigma(A)$ denoting all the eigenvalues of *A* is called the *spectrum* of *A*. An eigenvalue is said to be *semi-simple* if its algebraic multiplicity and geometric multiplicity are equal; and if both of these multiplicities equal one, the eigenvalue is called *simple*. An eigenvalue that is not semi-simple is called a *defective* eigenvalue. We now present several general sufficient conditions for solving Eq. (1.1), which are to be applied in the next section for structural analysis of the solutions for several particular matrices *A*.

Theorem 2.1. If B is a matrix that satisfies $AB = BA = B^2$, then B is a solution of Eq. (1.1).

Proof. From $AB = B^2$ we have $ABA = B^2A$. On the other hand, since BA = AB we have $BAB = B^2A$, and hence *B* solves Eq. (1.1).

An important special case of Theorem 2.1 is given in the following theorem.

Theorem 2.2. If *P* is a projector that commutes with *A*, then the matrix B = AP is a solution of Eq. (1.1).

Proof. Since *P* commutes with *A*, AB = A(AP) = (AP)A = BA. Furthermore, since *P* is a projector, $B^2 = (AP)(AP) = A^2P^2 = A^2P = A(AP) = AB$, so the result follows from Theorem 2.1.

As the following result shows, if A is nonsingular then the matrix B in Theorem 2.1 must be in the form described in Theorem 2.2.

Theorem 2.3. Suppose A is nonsingular. Then any solution B obtained in Theorem 2.1 is of the form B = AP, where P is a projector that commutes with A.

Proof. First notice that AB = BA implies $A^{-1}B = BA^{-1}$. Let $P = A^{-1}B$. Then

$$AP = B = BA^{-1}A = A^{-1}BA = PA.$$

Furthermore, $AB = B^2$ implies $A^{-1}B^2 = B$. Hence

$$P^{2} = A^{-1}BA^{-1}B = A^{-1}A^{-1}B^{2} = A^{-1}B = P.$$

3. Solution Structures for Some Types of Yang-Baxter-like Equation

We next establish several explicit forms of infinitely many solutions to certain types of Eq. (1.1), as a direct consequence of the general results in the previous section. Firstly, it is shown that in order to solve Eq. (1.1) it is enough to solve the corresponding simpler case where *A* is replaced with its Jordan canonical form.

Lemma 3.1. Let two $n \times n$ matrices A and B satisfy Eq. (1.1). Then for any $n \times n$ nonsingular matrix S, the matrices $A' = S^{-1}AS$ and $B' = S^{-1}BS$ satisfy

$$A'B'A' = B'A'B'.$$

Furthermore, if B' satisfies this equation for a given $A' = S^{-1}AS$, then $B' = S^{-1}BS$ for some B such that ABA = BAB.

Proof. The result follows from the fact that Eq. (1.1) is satisfied if and only if

$$(S^{-1}AS)(S^{-1}BS)(S^{-1}AS) = (S^{-1}BS)(S^{-1}AS)(S^{-1}BS).$$

Since every square matrix *A* is similar to its Jordan canonical form *J*, that is $A = SJS^{-1}$ for some nonsingular matrix *S*, it follows from Lemma 3.1 that a matrix *K* is a solution to Eq. (1.1) with A = J if and only if matrix $B = SKS^{-1}$ is a solution. Thus without loss of generality, henceforth we assume that *A* is this Jordan canonical form — i.e. *A* is the block diagonal matrix *J* consisting of Jordan blocks.

We start with the simplest case to motivate ideas. Suppose $J = [\lambda] \in \mathbb{C}^{1 \times 1}$ where $\lambda \neq 0$, and consider the corresponding one-dimensional form $\lambda x (\lambda - x) = 0$. Since $\lambda \neq 0$, x = 0 and $x = \lambda$ are the trivial solutions. Now let us consider a general nonsingular Jordan block

$$J = \begin{bmatrix} \lambda & 1 & 0 & 0 & \cdots & 0 \\ 0 & \lambda & 1 & 0 & \cdots & 0 \\ \vdots & 0 & \ddots & \ddots & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & \ddots & \ddots & \ddots & 1 \\ 0 & 0 & \cdots & \cdots & 0 & \lambda \end{bmatrix} \in \mathbf{C}^{l \times l},$$
(3.1)

where $\lambda \neq 0$ and $l \geq 2$. Since *J* is nonsingular, by Theorem 2.3 we look for the solutions of the form K = JP, where *P* is a projector that commutes with *J*. A simple computation shows that all matrices *P* such that JP = PJ are upper triangular Toeplitz — i.e. with all the entries along any diagonal line the same numbers. Thus letting *P* be such a matrix, if we denote its common main diagonal entry by μ then μ is the only eigenvalue of *P*. Since *P* is also a projector, it is diagonalisable, so there is a nonsingular matrix *S* such that $S^{-1}PS = \mu I$, and hence $P = \mu I$. The fact that *P* is a projector then ensures that μ is either 0 or 1, so either P = 0 or P = I — hence either K = 0 or K = J, which are the trivial solutions. In summary, we have the following result.

Theorem 3.1. Let *J* be given by (3.1). Then the solutions of the corresponding Yang-Baxterlike matrix equation obtained from Theorem 2.1 are only the trivial ones.

However, if $J = [0] \in \mathbf{C}^{1 \times 1}$ or $\lambda = 0$ in the matrix *J* defined in (3.1), we can find infinitely many solutions via Theorem 2.1 as follows.

Theorem 3.2. *Let* $J = [0] \in C^{1 \times 1}$ *or*

$$J = \begin{bmatrix} 0 & 1 & 0 & 0 & \cdots & 0 \\ 0 & 0 & 1 & 0 & \cdots & 0 \\ \vdots & 0 & \ddots & \ddots & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & \ddots & 0 & 1 \\ 0 & 0 & \cdots & \cdots & 0 & 0 \end{bmatrix} \in \mathbf{C}^{l \times l},$$
(3.2)

where $l \ge 2$. Then there are infinitely many solutions K to the corresponding Yang-Baxter-like matrix equation. Moreover, the explicit expression of such solutions is available.

Proof. If J = [0], then all numbers k are solutions in this trivial case. When J is given by Eq. (3.2), we seek all solutions K that can be obtained from Theorem 2.1. The condition JK = KJ for solutions K implies that K must be an upper triangular Toeplitz matrix of the form

$$K = \begin{bmatrix} k_1 & k_2 & \cdots & \cdots & k_{l-1} & k_l \\ 0 & k_1 & k_2 & \cdots & \cdots & k_{l-1} \\ 0 & 0 & \ddots & \ddots & & \vdots \\ \vdots & \vdots & \ddots & \ddots & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & \ddots & k_2 \\ 0 & 0 & \cdots & \cdots & 0 & k_1 \end{bmatrix}.$$

The other requirement from Theorem 2.1 that $JK = K^2$ sets up the equation (K - J)K = 0 — i.e.

$$\begin{bmatrix} k_1 & k_2 - 1 & \cdots & k_{l-1} & k_l \\ 0 & k_1 & k_2 - 1 & \cdots & k_{l-1} \\ 0 & 0 & k_1 & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & \ddots & \vdots \\ \vdots & \vdots & \ddots & k_1 & k_2 - 1 \\ 0 & 0 & \cdots & \cdots & 0 & k_1 \end{bmatrix} \begin{bmatrix} k_1 & k_2 & \cdots & k_{l-1} & k_l \\ 0 & k_1 & k_2 & \cdots & k_{l-1} \\ 0 & 0 & k_1 & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & \vdots \\ \vdots & \vdots & \ddots & k_1 & k_2 \\ 0 & 0 & \cdots & 0 & k_1 \end{bmatrix} = 0.$$

By equating column by column on each side of this equality, it is not difficult to get the following formulas for K. If l = 2, then

$$K = \begin{bmatrix} 0 & k \\ 0 & 0 \end{bmatrix};$$
(3.3)

if l = 3, then

$$K = \begin{bmatrix} 0 & 0 & k \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{bmatrix} \quad \text{or} \quad K = \begin{bmatrix} 0 & 1 & k \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{bmatrix};$$
(3.4)

and if $l \ge 4$ then

$$K = \begin{bmatrix} 0 & 0 & 0 & \cdots & 0 & 0 & k \\ 0 & 0 & 0 & \ddots & \ddots & 0 \\ \vdots & & \ddots & \ddots & \ddots & 0 \\ \vdots & & & \ddots & \ddots & \ddots & \vdots \\ \vdots & & & & \ddots & \ddots & 0 \\ \vdots & & & & \ddots & 0 \\ 0 & \cdots & \cdots & \cdots & \cdots & 0 \end{bmatrix}$$
(3.5)

or

$$K = \begin{bmatrix} 0 & 1 & 0 & \cdots & 0 & 0 & k \\ 0 & 0 & 1 & \ddots & \ddots & 0 \\ \vdots & & \ddots & \ddots & \ddots & 0 \\ \vdots & & & \ddots & \ddots & \ddots & \vdots \\ \vdots & & & & \ddots & \ddots & 0 \\ \vdots & & & & & \ddots & 1 \\ 0 & \cdots & \cdots & \cdots & \cdots & 0 \end{bmatrix},$$
(3.6)

where k is an arbitrary number. This set of solutions of the Yang-Baxter-like matrix equation is a one-dimensional manifold.

Lemma 3.1 and Theorem 3.2 immediately imply the following result.

Corollary 3.1. Suppose that 0 is a simple or defective eigenvalue of a matrix A. Then there are infinitely many solutions to Eq. (1.1) with explicit expressions.

Proof. Since the Jordan canonical form of *A* is a block diagonal matrix with Jordan blocks along the diagonal, without loss of generality we may assume that the Jordan canonical form *J* of *A* is the first *J* in Theorem 3.1 if $\lambda = 0$ is simple or the second *J* in Theorem 3.1 if $\lambda = 0$ is defective. Then there is a nonsingular matrix *S* such that $A = SJS^{-1}$. Now let *K* be any matrix satisfying JKJ = KJK obtained from Theorem 3.1. Then *K* is any scalar if $\lambda = 0$ is a simple eigenvalue, and *K* is given by one of the formulas (3.3)-(3.6) depending on the size of *J*, if $\lambda = 0$ is a defective eigenvalue. Consequently, from Lemma 3.1 we conclude that $B = SKS^{-1}$ solves Eq. (1.1).

Next, we consider the case when $\lambda \in \sigma(A)$ has at least two associated 1×1 Jordan blocks.

Theorem 3.3. Suppose $J = \text{diag}(\lambda, \lambda, \dots, \lambda) \in \mathbb{C}^{l \times l}$ with $l \ge 2$. If $\lambda \ne 0$, then for any $l \times l$ projector P we have that $K = \lambda P$ solves the corresponding Yang-Baxter-like matrix equation. If $\lambda = 0$, then any $l \times l$ matrix K is a solution.

Proof. The case $\lambda = 0$ is obvious. Suppose $\lambda \neq 0$. Since $J = \lambda I$, for any matrix K we have $JKJ = \lambda^2 K$ and $KJK = \lambda K^2$. Thus JKJ = KJK if and only if $K^2 = \lambda K$, which is true if and only if $K = \lambda P$ with $P^2 = P$.

The proof of the next result is the same as that of Corollary 3.1.

Corollary 3.2. Suppose that $\lambda \in \sigma(A)$ has at least two 1×1 Jordan blocks associated with it. Then there are infinitely many solutions to Eq. (1.1) with explicit expressions.

Finally, we consider the case when $\lambda \in \sigma(A)$ is associated with at least two Jordan blocks, one of which is 1×1 and the other of which is $l \times l$ with $l \ge 2$.

Theorem 3.4. Let *J* be an $(l + 1) \times (l + 1)$ Jordan canonical form with the structure

	-λ	0	0	0	•••	0 -	
	0	λ	1	0	•••	0	
τ	÷	0	۰.	·	·	÷	
J =	÷	:	·	·	·	0	•
	÷	÷		·	·	1	
	0	0	•••	•••	0	λ_	

Then there are infinitely many solutions K to the corresponding Yang-Baxter-like matrix equation, which have explicit expressions.

Proof. First, assume that $\lambda \neq 0$. Then by Theorem 2.3 any solution described in Theorem 2.1 can be written as K = JP, where *P* is a projector that commutes with *J*. From the condition JP = PJ, we obtain that

	[_ p	0	0	0	•••	a]	
<i>P</i> =	b	p_1	p_2	<i>p</i> ₃	•••	p_l	
	:	0	·	·	·.	:	
	:	:	·	·	۰.	<i>p</i> ₃	•
	:	:		·	·	<i>p</i> ₂	
	0	0	•••	•••	0	p_1	

It is clear that p and p_1 are the only eigenvalues of P. Since P is a projector, its eigenvalues are only 0 and 1, so there are only four possibilities. If $p = p_1 = 0$, then P = 0, and hence K = 0, a trivial solution. If $p = p_1 = 1$, then P = I, and hence K = J, the other trivial solution. Suppose that p = 1 and $p_1 = 0$. Then from the condition $P^2 = P$, it follows that

	Γ1	0	0	•••	0	а	٦
	b	0	0 0	•••	0	ab	
	0	0		0	•••	0	
P =	:	:	·	·	·	÷	,
	:	:		·	·	0	
	0	0	•••	•••	0	0	

where a and b are arbitrary numbers. So

$$K = JP = \begin{bmatrix} \lambda & 0 & 0 & \cdots & 0 & \lambda a \\ \hline \lambda b & 0 & 0 & \cdots & 0 & \lambda a b \\ 0 & 0 & 0 & 0 & \cdots & 0 \\ \vdots & \vdots & 0 & \ddots & \ddots & \vdots \\ \vdots & \vdots & \vdots & \ddots & \ddots & 0 \\ 0 & 0 & 0 & \cdots & 0 & 0 \end{bmatrix}$$
(3.7)

is a solution to JKJ = KJK for any *a* and *b*. Finally, let p = 0 and $p_1 = 1$. Then the condition $P^2 = P$ implies that

$$P = \begin{bmatrix} 0 & 0 & 0 & \cdots & 0 & a \\ b & 1 & 0 & \cdots & 0 & -ab \\ 0 & 0 & 1 & 0 & \cdots & 0 \\ \vdots & \vdots & 0 & \ddots & \ddots & \vdots \\ \vdots & \vdots & \vdots & \ddots & \ddots & 0 \\ 0 & 0 & 0 & \cdots & 0 & 1 \end{bmatrix},$$

where *a* and *b* are arbitrary. Thus, if l = 2, then

$$K = JP = \begin{bmatrix} 0 & 0 & \lambda a \\ \hline \lambda b & \lambda & 1 - \lambda a b \\ 0 & 0 & \lambda \end{bmatrix};$$
(3.8)

if l = 3, then

$$K = JP = \begin{bmatrix} 0 & 0 & 0 & \lambda a \\ \hline \lambda b & \lambda & 1 & -\lambda a b \\ 0 & 0 & \lambda & 1 \\ 0 & 0 & 0 & \lambda \end{bmatrix};$$
 (3.9)

and if $l \ge 4$, then

$$K = JP = \begin{bmatrix} 0 & 0 & \cdots & \cdots & 0 & \lambda a \\ \hline \lambda b & \lambda & 1 & 0 & \cdots & 0 & 0 & -\lambda ab \\ 0 & 0 & \lambda & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & \ddots & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & \ddots & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & & \ddots & \ddots & 1 \\ 0 & 0 & \cdots & \cdots & \cdots & 0 & \lambda \end{bmatrix}$$
(3.10)

is a solution to the corresponding Yang-Baxter-like matrix equation for any a, b.

Now assume that $\lambda = 0$. In this case we use Theorem 2.1 directly. Since JK = KJ, we obtain

$$K = \begin{bmatrix} \frac{k}{0} & 0 & 0 & 0 & \cdots & a \\ \hline b & k_1 & k_2 & k_3 & \cdots & k_l \\ \vdots & 0 & \ddots & \ddots & \ddots & \vdots \\ \vdots & \vdots & \ddots & \ddots & \ddots & k_3 \\ \vdots & \vdots & & \ddots & \ddots & k_2 \\ 0 & 0 & \cdots & \cdots & 0 & k_1 \end{bmatrix}.$$

The additional condition $JK = K^2$ means (K - J)K = 0. Equating each column of this matrix equation, we obtain that if l = 2, then

$$K = \begin{bmatrix} 0 & 0 & a \\ 0 & 0 & c \\ 0 & 0 & 0 \end{bmatrix} \quad \text{or} \quad K = \begin{bmatrix} 0 & 0 & 0 \\ b & 0 & c \\ 0 & 0 & 0 \end{bmatrix};$$
(3.11)

if l = 3, then

$$K = \begin{bmatrix} 0 & 0 & 0 & a \\ \hline b & 0 & \frac{1 \pm \sqrt{1 - 4ab}}{2} & c \\ 0 & 0 & 0 & \frac{1 \pm \sqrt{1 - 4ab}}{2} \\ 0 & 0 & 0 & 0 \end{bmatrix};$$
 (3.12)

٦

and if $l \ge 4$, then

$$K = \begin{bmatrix} 0 & 0 & 0 & \cdots & \cdots & 0 & a \\ \hline b & 0 & 0 & 0 & \cdots & 0 & -ab & c \\ 0 & 0 & 0 & 0 & \ddots & \ddots & -ab \\ \vdots & \vdots & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & \ddots & \ddots & \ddots & 0 \\ 0 & 0 & \cdots & \cdots & \cdots & 0 & a \\ \hline b & 0 & 1 & 0 & \cdots & 0 & -ab & c \\ 0 & 0 & 0 & 1 & \ddots & \ddots & -ab \\ \vdots & \vdots & & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & \ddots & \ddots & \ddots & 0 \\ \vdots & \vdots & & \ddots & \ddots & \ddots & 1 \\ 0 & 0 & \cdots & \cdots & \cdots & 0 & 0 \end{bmatrix}$$
(3.14)

or

is a solution to the corresponding Yang-Baxter-like matrix equation for any *a*, *b*, *c*.

Corollary 3.3. Suppose that $\lambda \in \sigma(A)$ is associated with at least two Jordan blocks in the Jordan canonical form of A, one of which is 1×1 and the other of which is $l \times l$ with $l \ge 2$. Then there are infinitely many solutions to Eq. (1.1) with explicit expressions.

We end this section with the result that if $\lambda = 0 \in \sigma(A)$ then there are infinitely many solutions with explicit expressions.

Theorem 3.5. If $\lambda = 0 \in \sigma(A)$, then there are infinitely many solutions to Eq. (1.1) which can be constructed explicitly.

Proof. Suppose that $\lambda = 0 \in \sigma(A)$. The case when $\lambda = 0$ is simple or defective is covered in Corollary 3.1, and the case when $\lambda = 0$ is semisimple but not simple is covered in Theorem 3.3. So in all cases there are infinitely many solutions to Eq. (1.1).

Remark 3.1. Indeed, any square matrix *B* such that AB = 0 is a solution of Eq. (1.1) when *A* is singular — and since there are infinitely many such matrices *B*, Theorem 3.5 follows immediately.

4. Numerical Example

Let us now consider a numerical example that contrasts our results with those in Ref. [6]. For any square matrix *A*, the index $v(\lambda)$ of its eigenvalue λ is the smallest nonnegative integer *j* such that ker $((A - \lambda I)^{j+1}) = \text{ker}((A - \lambda I)^j)$. From the main result in Ref. [6], the matrix B = AP is a solution of Eq. (1.1) if *P* is the projector onto ker $((A - \lambda I)^{v(\lambda)})$ along ran $((A - \lambda I)^{v(\lambda)})$.

Example 4.1. Consider

$$A = \left[\begin{array}{rrrr} 3 & 2 & 2 \\ -2 & -1 & -2 \\ 0 & 0 & 1 \end{array} \right].$$

One can verify that $A = SJS^{-1}$, where

$$J = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 1 \\ 0 & 0 & 1 \end{bmatrix} \text{ and } S = \begin{bmatrix} 0 & 4 & 1 \\ 4 & -4 & 1 \\ -4 & 0 & 0 \end{bmatrix}.$$

Since 1 is the only eigenvalue of the matrix and $(A - I)^2 = 0$, it follows that P = I — and hence the solution *B* obtained from the spectral solution theorem of Ref. [6] is the trivial solution *A*. However, we can now construct infinitely many solutions to Eq. (1.1) according to the results here. From Theorem 3.4 and Eqs. (3.7) and (3.8) ($\lambda = 1$ and l = 2), we have two two-parameter families of solutions $B = SKS^{-1}$ to Eq. (1.1) — viz.

$$K = \begin{bmatrix} 1 & 0 & a \\ b & 0 & ab \\ 0 & 0 & 0 \end{bmatrix} \text{ and } K = \begin{bmatrix} 0 & 0 & a \\ b & 1 & 1 - ab \\ 0 & 0 & 1 \end{bmatrix}$$

respectively, where a and b are arbitrary numbers. Expanding SKS^{-1} and rewriting 2a as

a since a is arbitrary, we have the two families of solutions

$$B_{1}(a,b) = \begin{bmatrix} ab & ab & (a-1)b \\ a(1-b) & a(1-b) & (a-1)(1-b) \\ -a & -a & -(a-1) \end{bmatrix}$$
$$= \begin{bmatrix} b & 0 & 0 \\ 0 & 1-b & 0 \\ 0 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ -1 & -1 & -1 \end{bmatrix} \begin{bmatrix} a & 0 & 0 \\ 0 & a & 0 \\ 0 & 0 & a-1 \end{bmatrix}$$

and

$$B_2(a,b) = \begin{bmatrix} 3-ab & 2-ab & 2-(a+1)b \\ a(1+b)-2 & a(1+b)-1 & -2+(1+a)(1+b) \\ -a & -a & -a \end{bmatrix},$$

where *a* and *b* are arbitrary numbers. It is clear that $B_2(a, b) = A - B_1(-a, -b)$ in the above example, and In general one can easily prove the following result:

Theorem 4.1. Under the condition of Theorem 2.1, A - B is also a solution of Eq. (1.1) and belongs to the solution set obtained from Theorem 2.1.

5. Conclusions

Using simple criteria for some solutions of the Yang-Baxter-like matrix equation (1.1) and assuming several special structures of the Jordan canonical form for $\lambda \in \sigma(A)$, we obtained infinitely many explicit solutions that commute with *A* and completely characterised them. It will be an interesting task to explore the solution structure for other types of Jordan structures corresponding to $\lambda \in \sigma(A)$ — in particular, solutions that do not commute with the given matrix *A*.

References

- [1] M. Atiyah, Geometry, topology and physics, Quart. J. Roy. Astr. Soc. 29, 287-299 (1988).
- [2] R.J. Baxter, Partition function of the eight-vertex lattice model, Ann. Phys. 70, 193-228 (1972).
- [3] A. Cibotarica, J. Ding, J. Kolibal and N. Rhee, *Solutions of the Yang-Baxter matrix equation for an idempotent*, NACO **3**, 347-352 (2013).
- [4] C. Cullen, Matrices and Linear Transformations, Dover (1990).
- [5] J. Ding and N. Rhee, A nontrivial solution to a stochastic matrix equation, East Asian J. App. Math. 2, 277-284 (2012).
- [6] J. Ding and N. Rhee, Spectral solutions of the Yang-Baxter matrix equation, J. Math. Anal. Appl. 402, 567-573 (2013).
- [7] L.D. Faddeev, History and perspectives of quantum groups, Milan J. Math. 74, 279-294 (2006).
- [8] F. Felix, Nonlinear Equations, Quantum Groups and Duality Theorems: A Primer on the Yang-Baxter Equation, VDM Verlag (2009).
- [9] C.N. Yang, Some exact results for the many-body problem in one dimension with repulsive deltafunction interaction, Phys. Rev. Lett. **19**, 1312-1315 (1967).
- [10] C. Yang and M. Ge, Braid Group, Knot Theory, and Statistical Mechanics, World Scientific (1989).